FLUSH-MOUNT BRACKET KIT MTK-112AL

= DESCRIPTION

T Flush-mount Installation Kit

= TECHNICAL INFORMATION
16 GA. 304 Stainless Steel Angle
Stainless Steel 12” Height Adjusting Screw
127 Stainless Steel Lock Washers
Aluminum Anchors

]
!

A
= INCLUDED PARTS
#8-32 Screw
12” Height Adjusting Screw
#8 Lock Washer
1 #8-32 Standoff 4832 48 4830
34 |
31 7/16 -
21/2 13 172 13 1/2 21/2
[
] & ] D X2
3
] - top view
| —
&S B
10-32 Threaded Hole
Section view Top view
3/4 |
19 15/16 . -~
[ T L
T Jxz
. |
J top view
— ~o
NS 1.1/2
REl 10-32 Threaded Hole
Section view Top view

PROJECT INFORMATION

Project

Date !/ /

QTY

Specifier

Contact

Note

Copyright 2020 Mila International, Inc. www.mila-international.com

SAIHOSSTDOIV



